	QUIZ #5
	CIS 068 Section 2
	

	NAME :
	


	QUESTION
	SC

	Let jll be a JAVA object of type LinkedList. What will happen if you use the command jll.getNext(); to attempt to read an element of jll ?

· the next element will be read

· won't compile, since there's no method getNext() in LinkedList

· runtime error, since the return element must be casted to an appropriate return type

· runtime error, if no iterator is initialized, else the next element will be read
	 2

	What's true ?

· A Stack can always be implemented using a subset of the functionalities of a LinkedList

· A LinkedList can always be implemented using a subset of the functionalities of a Stack

· A Stack can never be implemented using LinkedList as the underlying data structure

· LinkedList and Stack are the same data structure
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	Write a short code to display all data of a LinkedList<String> object jll, using a for loop !

For (                                          ){
}
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	What's the output of the following code ?

{

 ...

 Stack st=new Stack();

 st.push(5);

 st.push(7);

 int s=doMath(st);

 System.out.println(st."");

 ...

}

public int method doMath(Stack st){

 return(st.pop() - st.pop());

}
The output is: ___________
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